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Instructions to Pupils:

1. Do not open any booklet until you are told to do so.

2. Follow all instructions carefully.

3. This paper consists of 2 booklets.
« Booklet A consists of Section A. Booklet B consists of Sections B and C.

4. For questions 1 to 15 in Section A, shade the correct ovals on the Optical Answer
Sheet (OAS).

5. ANSWER ALL QUESTIONS.

Maximum " Marks Obtained

Section A [ 20

* Booklet A consists of 7 pages altogether. 9/
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Section A

Question 1 to 15 carries 2 marks each. For each question, four options are given. One of
them is the correct answer. Make your choice (1, 2, 3 and 4). Shade the correct answer on
the OAS {Ogptical Answer Sheet). (20 marks)

1} Which one of the following has the digit 3 in the ten thousands place?

(1) 2346065
(@) 3467 091
(3) 6473850

(4) 8235190

-2) How many tens are there in 36 8907

(1) 38890
(2y 3689
(3) 368
{4, 386
3) 3 I L - .
62:6+ ’ +§ . What is the missing number in the box?
1
(1) e
1
) l
@) 5
.
3 jult
3 .
2
:’4 -
4) 3
13¥



4)

5)

When a fraction is multiplied by 3, the answer is % What is the fraction?

R
@ 3
® -
@ =

In the figure not drawn to scale, PR and ST are straight lines. Find 4UOT.

S
65°
P R
O 18"

U

T
(1) 47"
(2) 832
(3) 97°
(4) 115%

137



7)

8)

Which one of the following numbers is the largest?

(1) 9.4
2) 9.04
(3 944
4y  v.044
Maggie can write 32 words in 2 minutes. At this rate, how many words can she write
in 8 minuies?
() 128
(2) 144
(3) 240
(4 256
ABCD is a rectangle. DC = 20 em and BG =11 cm. P is the mi.d'—'poi'nt' of AB. Find the
area of triangle PBC. »

D 20 cm C
11 cm
A H 5 H B
(1)  55cm?
(2) 60cm*
(3) 66cm>
(4) 110cm?
LGo



9)

ABCD is a trapezium. Find /x.

(1)
(2)
3
(4)

A/ | B

The volume of the cube is 64 cm®. Find the length of one side of the cube.

(1
(2)
{3)
{4

16 cm
8 ém
6 cm

4 cm



i1} Look at the diagram below.

South-westof O is

M M
) N
3) P
4 Q

12) Amy, Brenda and Carrie have a ltotal sum of $84. Amy and Brenda have $54
altogether. What is the ratio of Carrie's share to the iotal sum of money?

(1) 5:9
2y 5:14
3 9:14 -
4 9:23
Py



13)

14)

3 ducks cost $72 and 6 chickens cost $90. How much does 6 ducks and 9 chickens
cost altogether? ' ;

() %273
2 $279
(3) %289
(4) $324

A rectangular piece of paper, partly shaded, is folded to form the shapé shown below.
Express the shaded area below as a percéntage of the area of the rectanguiar piece of
paper before it was folded. {Figure is not drawn 1o scale)

‘8cm

%

& om £

6 em

(1)  40%
(2)  44%
(3) 47%
(4)  50%

' by



15; A rectangular piece of paper is folded in half. Using the folded edge as a base, three

lines are drawn as shown below. The figure formed is then cut out and opened up.

‘Whatis the area of the cut-out shape?

(1) 12 e’

(2) 24 cm”

(3} 30 cm?

(4) 60cm’
1Y

/
S cm - \&cm
4 cm
Folded edge
. V
6 cm g

~~~END OF BOOKLET A~~~
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Instructions to Pupils:

1. Do not open this booklet until you are told to do so.

2. Follow all instructions carefully.”

3. This booklet consists of Sections B and C.

4. For questions 26 to 48, show all relevant working in-the spaces provided.
5. ANSWER ALL QUESTIONS. '
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Section C 50 .
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Sland »
wiuwstions 16 1o 25 camry 1 mark each. Write your answers in the spaces provided. For
gquestions which require units, give your answers in the units stated. {10 marks)

16} A taxi can carry a maximum of 4 passengers. What is the least number of taxis needed
to transport 17 passengers?

Ans:
17)  Find the value of 130 + 16.
Leave your answer in decimals.
Ans:
e 3 3
18)  Find the value of = x —_
6 10
Leave your answer in its simplest form.
- Ans:

19} 27 kg of rice are shared equally ie. How much rice ddes each person
get? Leave your answer in jis’simplest form.

Ans: kg -




20} Find ihe area of the triangle below.

P,
8 cm
1
13 cm
Ans: cm’
21)  Round off 9.873 to 1 decimal place.
Ans:
22} 1
Express 1g as a percentage.
Ans: %o

23) Ryan was given a 20% discount for a mealthat cost $5. How much did k& pay for the
- meal?

Ans: $




Number of visitors

100 4 o b
o : : — ,
January February = March Aprit May June -

Month

) 24}A The line graph shows the number of visitors 1o the museumn 6vér 8 months. In which
month was the number of visitors twice the number of visitors in January?

Ans:

25)  The figure below is not drawn to scale. ABC is a straight line. ¥ind ~/ a.
c :

/1
//.f;o\

Ans:




Questions 26 to 35 carry 2 marks each. Show your working clearly in the space below each
question and write your answers in the spaces provided. For questions which require units,
(20 marks)

give your answers in the units siated.

26) In every litre of apple juice, there is 400 m! of apple syrup. The rest of the juice is made

up of water. How much water will there be in 2.5 litres of apple juice? Leave your

answer in millilitres.

Ans:

Ans: mé
27)  The figure below is not drawn to scale. Find Zr.
Ap=AC ‘
45°
r
B D
Ans: ©
28) Gerald was facing north-west. He made an anti-clockwise turn o face is/gUth‘
What angte did he turn through?
- N
¥ 3
(8]

zt;f



29; The ratio of the perimeter of square A to the perimeter of square B is 4 : 6. If the

perimeter of square B is 60 cm, find the difference between the perimeters of the two
squares.

Ans: ] cin

30)  The square ABCD below has an area of 16 cnt”: Find the area of the shaded part.

A

Ans: cm?

31)  The figure below is not drawn to scale. Find ~ RQS.

Q

\70°

Ans:




32} Mrs Lee has some pencils. If she packs them into bundles of 5 pencils in each bundie,
she will have 4 extra pencils. If she packs them into bundles of 9 pencils in each

bundie, she will need 7 more pencils. How many pencils are there?

Ans:

33) " The table below shows the _parking rate at a car park in the city.

8 am. o6 p.m. $2.50 per hour or part thereof j

—
After 6 p.m. $0.50 per hour or part thereof, 7 o _ l

Mr. Teo parked his car from 3 p.m. to 8.30p.m. at the car park. How much did he

have to pay?

Ans: ¥

-

34) A wooden bleck measures 10 ¢m by 8 cm by 2.5 cm. If 4 such'lvodden biocks are

packed exactly into a rectangular box, what is the capacity of the box?

Ans: ) cim




35)

Jai.. .

v P
£ 10000 \\
o 8000 ~ //
= 6000 \\ﬁ/‘/
5 4000

2000

04— , -
January Februdry March April~ May

Month -

i+ above shows the number of visitors who visited the Night Safari from

O May, What is the average monthly number of visitors who visited the Night
w1 the 5 months?

Ans:




Section C

For questions 36 10 48, show your working clearly in the space provided tor each question
" and write your answers in the spaces provided.

The number of marks available is shown in brackets [ 1 at the end of each question or part
guestion. (50 marks)

36)  There are 500 Primary 5 pupils in Rosyth. 22% of them go to school by car, while 58%
of them go to school by bus. The rest of the Primary 5 pupils walk to school. How

many Primary 5 pupils walk to school?

Ans: 13}

3
37)  There were 60 more women than men at a parly. 2 of the men and % of the women

wore watches. The number of women and the number of men who wore walches were

the same. How many aduits wore waiches?

Ans: [3j




38;  Luna, Ginny and Padma shared a pack of stickers in the ratio 7 : 5 : 3. The total
number of stickers Luna and Ginny have is 36 more than Padma's share. Find the

total number of stickers shared by the 3 girls.

Ans: [3]

39) Water flows out of a rectangular tank at a rate of 600 m¢ per minute. Find the time it

takes for the water level to fall by 8 cm. Leave your answer in minutes.

f?Scm

tg}c

Ans: -~ 13]-




40)  The_ayerage number of letters in six magic spells is 9. Four of the spells are LUMOS,
CHUC&O, PROTEGO and CONFUNDO. The 2 remaining spells have the same

number of letters. How many letters does each of the 2 spells have?

-Ans: - {3}

41)  The figure below, not drawn to scale, is made up of 2 squares of different sizes. Find

the area of the shaded kegion.

?12cm

Ans: 13}

'
10



42} A bus was three bus stops away from the bus terminal.
At the first bus stop, 10 passengers got on and 7 passengers got ofi.
At the second bus stop, no passengers got on and 9 passengers got off.
At the third bus stop, 12 passengers got on and no passengers got off.
When the bus arrived at the terminal, all 51 passengers got oft.

How many passengers were on the bus just before it arrived at the first bus stop?

156 ' )
Ans: - [4]

11



AL

T

A box contains balls, sticks and nets. i of the items in the box are balls. The ratio of

the number of sticks to the number of nets is 10 : 3. There are 42 more sticks than

nets. How many iterns are there in the box altogether?

Ans: ) . [4]

12



o

A

<
=D

Sirus and Minerva shared some money in the ratio 2 : 5. Sirius bought a deck of caids
for $16 and donated % of his remaining money. He had $27 left. What was the total

sum of money Sirius ard Minerva had at first?

Ans: [4]

13



45)

A set of value meal consists of a hamburger, an apple pie and a can of juice. The

hamburger costs $1.90 more than the apple pie. The apple pie costs $0.80 more than

“the can of juice. The total cost of 5 sets of the value meal is $37.

(a) Find the cost of the can of juice.

{b) Find the cost of 5 hamburgers.

" Ans: {(a) [3}

14



45, Hogwarts Photography Ciub has 1150 members. 20% of the men and 25% of the
women are non-professional photographers. A iotal of 250 members are non-

professicnal photographers. How many more men than women are there‘in the club?

Ans: [5]

15



1
47,

of his money on story books and $2 more

o0 ]

At a book fair, Gideon spent $6 less than
than — of his remaining money on reference books. Alter buying the books, he stil

had $10 left.

(@) H
bought the reference books?

How much money was left after Gideon bought tus story books and before he
How much money did Gideon have at first?

(b)

Ans: (2}

(b)

16



457 There were two identical Hights of steps. For the first tlight of steps, Albus walked up
some steps and ran 4 steps, and took a total of 75 seconds. For the second thght of
steps, Albus waiked up some steps and ran 11 steps, and took a total of 40 seconds. - -

- How long will Albus take if he had walked up both flights of steps? Leave your answer

ti1 seconds.

Ans: 5]

124

~END OF PAPER-

Have you checked your work thoroughly 7

17



Rosyth Primary School

Primary 5 Maths 5A2 Exam (2007)

1B 9. ke

20, A2cm’ 21. 99

22, 120% 23, $4.00

24. May 25. 115°

26.  1500mf 27. 65°

28, 135¢ 29, 20cm

3. 3 31 26°

32. 2% 33. 39

34, 800cw’ 35. 9804 visitors

36. 22 + 58 = 80
i) — 80 =29
20
— 3 500 = 180
100
100 primary 5 papils walk te school.
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7| ——|

o0 - 5 =12
12 x 6 = 72
72 adults swwore watches

3 . : G P
7T o 5 3
7+5-3=9
7+ 5+ 3 = 15u
9 = 36
in = 4
152 = 15 x 5 = 060 stickers

39, 16 x 36 = 300
Aeh x § =2400
k = 600 = 4
i. wkes 4 minutes for the water level io fall by 8em.

46, 9 x 6 =54
5+6+ 7 =18

8+ 8 =26
T 26 = 28
T2 =14

i of the two spelis have 14 letters.

43. i2 +6 =18
z 15 x6 = 54

L x12x12 =72
7

o b =36
iZ2 x 12 = 144
144 + 36 = 180
= 12 = 54em?
_ .. area of the shaded region is 54cm’

Page 2 of 4



44,

45h.

46.

51— 12 = 39
39 + 9 = 4§
48 — 10 =38
38 + 7 =45

45 passengers were on the bus before it arrived at the first bus stop.

190~-3=7
42 = 7=6
6 x 13 = 78
78 = 3= 26

26 + 78 = 104
There are 104 item ian the box altogether.

27 - 3=9
x4 =36
36 + 16 = 52
52 - 2 =126
26 x 7 = 182

The total sum of money Sirins and Minerva had at first was $182.00

$(0.80 x 2) = 31.60

$(1.60 + 1.94) = $3.50

$(7.40 — 3.50) = $3.90

3(3.56¢ — 3) = $1.30

The cost of the can of juice of 31.30

$(1.30 + 0.80) = $2.10

$(2.10 + L.9¢) = 54.60

$(4.00 x 3) = $20.00

The cost of 5 hamburgers is $20.00

I

— 1150
w -

1M = 1w = 250

AV + 4W = 250 x 4 = 1000
5M + 4w = 1150

M = 1150 — 1000 = 150

M 150 x 5 = 750 men

4W = 1150 — 750 = 400 women
750 — 400 = 3506

i

Page 3 of 4



lo( TV

47.

48.

b ?

F 3

Y

P e
4_——-H
A e
2u = $10 + §2 = %312.00
12
fa = — = %6
2

9u = 9 x $6 = $54

Iparts = $34 — %6 = 548
1 part = $16
8 parts = $16 x 8 = $128

i1 —4=7
Difference between and walking
7steps = 75 — 40 =35 seconds

35
1step = 7 = 5 seconds
4 x5 =20
75 + 20 = 95
95 + 75 = 190 seconds
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